Handout # 1            Unit 5                Read pg.206    Name : __________________                            
1. What is the main reason why NL is struggling with a labour shortage.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2. What type of workers are in greatest demand in NL ?
________________________________________________________________________________________________________________________________________________________________________________________________________________________

3. Suggest one idea that the provincial government could implement as a solution to the skilled labour shortage?
________________________________________________________________________________________________________________________________________________________________________________________________________________________

4. Define the term resource – based community.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

5. St. John’s is booming economically because of the oil industry. In ten years if there is a downturn in this cycle explain the impact this will have on St. John’s economy.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
